RRB NTPC CBT 2/GROUP D
MATHS

3TdD] I RAILWAY U

Complete Revision

IVE 5:30 PM



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If a five digit number 247xy is divisible by 3, 7 and 11, then what is the value of

(2y - 8x)7?
gfc Ui 3] DI FWAT 247xy 3, 7 AR 11 Y [AHUTI g, T (2y - 8x) BT HIH ]
IM?

9

17

6

11
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R 3R TG &1 11fd 7 : 8 b 3(Uld H g1 d aIHl T Ed g1 a9 Dd © b
M, TG Y 45 [P S8 ddl g | a1 a HRA o [¢1U M gIRT (ST 171 49 Jid
difoe?

The speed of Ram and Shaym are in the ratio 7 : 8. They both cover a certain
distance but Ram takes 45 minutes more than Shyam. Find the time taken by

Ram to cover the distance?

6 hours

7 hours

8 hours

9 hours
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The value of a car depreciates at the rate of 20% every year. After two years the
'value of the car will be Rs. 4,80,000/-. The original price of the car is:

Uh PR BT Ycd 8 dY 20% Pl & I YeIg¥ gIdl ¢ | &l 94 §lc DR DI 4
'4,80,000 Y I ST ®R I Jd Y4 ©:

Rs. 6,20,000/-
Rs. 6,00,000/-

Rs. 5,50,300/-

Rs. 7,50,000/-
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f12+22 +32+ . +142=1015,then 32 + 62+ 9%+ .. + 422 js equal to

gfd 12+ 224+ 32+ +142=1015%, Al 32+ 62+ 92 + . + 422 fh O SRER §°2

9135
9325
9315

9235
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X, 10 f&Al T U D] SR Ihdl § R Y I B @l 15 f&A1 T DR gbdl g dla X
AR Y THA1Y 2 {4 S dd ©, 39D dlc X DI 8IS &dl ¢ dl AUY DR YR DR+
o fo1U Y gIRT fern 1 9y 31 ifsi |

X can do a piece of work in 10 days and Y can do the same work in 15 days if X
‘and Y work for 2 days together after that X left the work then find the time taken
by Y to complete the remaining work.

10 days
12 days

8 days

15 days
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T 3R I DI HIRID 3T DT 3UId 3 : 2 § 3R I9PT 4y 34Ul 8 : 5§ Al
I8 ° UAD 9,000 ST Yl HIG I ad HR 81 5, dl AT 3R ! Dl AIRID 31
T AT JTd Diford?

The ratio of the monthly incomes of Radha and Rani is 3 : 2 and their
‘expenditure ratio is 8 : 5 if each of them is saving Rs. 9,000 per month, then find
the sum of the monthly incomes of Radha and Rani?

Rs. 132,000

Rs. 145,000

Rs. 135,000

Rs. 119,000
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&l ¢ Sl fab ddrg T ShHRE: 180 HICR UG 170 HIER Bl 6, U gk Dl 3R, HHRT: 72
fopdil/eer 3R 54 fhHl/der & T A FHFIAR b UR 316! ¢ | B & &g s
GOR Bl R H- H 38 (b d-1 Jag dim?

Two trains which are 180 m and 170 m in length are running towards each other
‘on the parallel lines at a speed of 72 km/hr and 54 km/hr respectively. To cross

each other after they meet, each will take:

10 sec
12 sec
9 sec

8 sec
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If 6 women and 8 girls can do a given piece of work in 10 days while 26 women

‘an
15

d 48 girls can do the same work in 2 days, then how much time it is taken by
women and 20 girls in doing the same type of work?

Hﬁeﬂ%ﬂmaﬁia Aasidar 10 ﬁ—rﬁf[ Uh B D P Ihdl © ol 26H%F|TQ

3]

R 48 AS(ddl 2 |c'.r|| 7 3t B Bl PR b g, dI 15 Aigarsii 3R 20 dsiddi
B I UPR b B Bl B H fhd-T I9g d7dr1 872
3 days
4 days
5 days

6 days
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Ramesh marked the price of an article 50% above the cost price and sells that
article after giving 20% discount and makes profit of Rs. 300. Find the cost price
of an article.

RO Udh g B Sifcbd Hed b e A 50% 3H9d 3ifdbd fhar 3R 39 9l
3 9] Dl 20% Pl G UR &4l R 300 39 B A1H HHAT| 9 DI by Hed 14

DIty

Rs. 1500

Rs. 1800

Rs. 1200

Rs. 1000




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

If 3 men or 6 women can harvest a field in 40 days. How long will 2 men and 6
‘women take to harvest it?

gfc 3 goY 1 6 Afgay 40 &1 o U Wd Bl dhelg B Tbdl 51 2 Yo 3R 6
AfgdU 38 dic H fhd-1r IHY ciili?

24 days
32 days

16 days

28 days
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An article was sold at a gain of 12%. Had it been sold for Rs.33 more, the gain
‘would have been 14%. The cost price of the article is:

Uh a¥d Dl 12% b A1 TR &1 471 3R 39 33 30Uy 3¢ § &1 SIrdl, dl a1y
14% BIdT| 9] D1 shd Hed H1 572

Rs. 1850

Rs. 1750

Rs. 1800

Rs. 1650
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The simple interest at 10% p.a. on a deposit for 2 years is Rs. 4,000. If the
‘interest is compounded on an annual basis, how much more will be the amount
of interest?

10% Ufd 94 @t a3 & 2 a8 & feiu fob <t ST A TR FIELRU TS 4,000 394 B
Ife a1t TR UR Tehdia AT T ST, Al sAT61 Bl AR fbd-l sifeid giFil?

Rs. 200

Rs. 240

Rs. 220

Rs. 190
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20 men working 6 hours a day can do 4 units of work in 8 days. How many men
‘are required to do 6 units of that work in 12 days, if they work for 6 hours a day?

20 G2 6 ©¢ Uld fa1 H1H Db 8 el H 4 ghTs D DR Jbd g | 331 HIH DI 6
Sh1gdl I 12 ol H B o [ fhdd goyi &1 3raxgedhdl gldl 6, dfc d 6 G¢ Ufd
[ D1 B 82

20

25

18

24
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faferfad siatfled siidel &1 AifedT I1d HifsRl

'Find the median value of the following ungrouped data:

26,12, 15, 42, 36, 16
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If a sum is invested at simple interest, it becomes 5/2 of itself in 5 years. What is
the annual rate of interest?

gfe U A B QIR0 Ao R 99 foar S g, 9l 98 5 a9l § W64 &f 5/2 8l
ST © 1 SIS B a1 &3 T 872

25 percent
40 percent
30 percent

35 percent
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Raman gets 30% marks in an examination but still fails by 30 marks. To qualify
in the exam, 60 percent marks is mandatory. What are the maximum marks for
the exam?
THUT Uh GR1& H 30 Uf=Id 3fch YT Bl © Ul (e 1 30 3{dhi I il gl
STl g | GRI&m 9 3ol giH & fe1u, 60 Ufd=Id 3 Sifdrd g | udla & sfeihdan
3 1 5?2

125

120

100

110
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The length of the longest rod that can be placed in a room of dimensions 10 m
by 8 m by 6 m in meters is

10 HIER I[N 8 HIeX I[UN 6 HIeR o M| &b HHL H HEHaH ddls bl 95 o

TG ST 9P dl ©

10

104/2
24

480
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A batsman scored some runs in 16 innings. He scored 87 runs in 17th innings
‘and his average score rose by 3 runs. What was his average score after 17th
iNNings.

Uh ccidlol 16 UTRA H e I &1 ¢ | 98 1741 URI H 87 I &A1 § 3R 39db
3d H 3 I gl ldl gl 1741 URT & d1a IGHT 3 I T UT?

39

40

38

41
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U ¢RI 1Y &9 Y Iehdl oi- UR 2 981 H 12,100 YU 3R 3 99 H 13,310
BUU D[ RAM Bl Sl © | dl SATS DI &R JTd BT

A sum of money amounts to Rs. 12,100 in 2 years and Rs. 13,310 in 3 years,
‘when compounded annually. Find the rate of interest.

12%

9%

10%

8%
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